Particle in a Finite Welﬂl )

U(x)
The boundary conditions are not the same as
for the finite well. We no longer require that “

v=0atx=0and x=L.

Instead, we require that y(x) and dy/dx be
continuous across the boundaries:

v Is continuous dy/dx is continuous

dy, dy
Atx=0: W, =W, dx’ = dX”

_ d‘//// _ d‘/////
Atx=L WY,y =W¥y p = e

Unfortunately, this gives us a set of four transcendental equations.
They can only be solved numerically (on a computer).
We will discuss the qualitative features of the solutions.
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